Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes (twice).
- Looking at them as little as possible, answer the questions.

The answers of Week 5’s questions should be handed to me at the beginning of Thursday’s lecture of 22nd of March. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK  5 in bold at the beginning of your answers.

Week 5
Just to be sure you understood the position of the AS curve:

The position (the height) of the AS curve in a certain year is determined, and is equal to, the inflation in that year. Given that prices are equal to the unit costs plus a fixed percent margin, the inflation in that year is determined by:

(i) The percent increases in nominal wages decided at the end of the previous year for that year. These increases are in turn equal to the expected inflation for the year plus or minus something, depending on whether the workers’ bargaining position was strong or weak in the past year. (Note: expected inflation = past year’s inflation). For this reason:

         - If Y > Yn in a certain year, the AS will shift up in the following year.
         - Ceteris paribus, an increase in inflation in a certain year increases the expected inflation and therefore accelerates the percent increases in nominal wages in the following year. Ceteris paribus, the result is an increase in inflation in the following year (the AS curve moves up).
(ii) The percent increases in the prices of raw materials and energy over the year. If the rate at which these prices increase over the year accelerates in that year, the AS curve will shift up in that year.

I.The model
1 a) Explain how unit costs are determined.

b) Explain how prices are determined.

In the following four questions assume the increase in non-wage costs (namely, in the prices of raw materials and energy) next year is equal to the inflation of past year.
3.If Y =Yn in one year, inflation will not change from that year to the next. Why? Be explicit about the several assumptions needed to arrive at this result.
4.If Y < Yn this year, what will happen to the increase in unit costs next year compared with the increase in unit costs last year? Explain. 

5.If Y>Yn this year, what will happen to this year’s inflation? Explain.

6. Present evidence on the relation between the output gap (Y-Yn) and inflation.
7. What is the effect of a decrease in this year’s AD below Yn on this year’s output and inflation and on next year’s inflation? Explain.



....

The weight of non-wage costs and of wage costs in total costs are 1/3 and 2//3 respectively.

8. If last year Y=Yn and inflation as well as the increase in the prices of raw materials and energy were equal to 3%, what will happen top this year’s inflation if this year: 
a) Y remains at Yn and the prices of raw-materials rise by 6%? Explain.

b) Y falls below Yn and the prices of raw-materials rise by 6%? The answer is the same as the one to a). Why?



...

9. What’s the difference between i and r?

10.a)  Which argument was presented in the lecture to suggest that the AD curve might be vertical?

b) Why may expect an upward-sloping AD curve? 
II.MP based on inflation targeting
11.  Start with output at Yn and inflation and inflation expectations at the target. With the aid of a graph, explain the effects of a decline in consumption if the CB follows an inflation targeting-strategy.
12. An inflation targeting CB responds to deviations of inflation from the target but not to deviations of unemployment from the natural rate. Do you agree? Explain.

13.  Start with output at Yn and inflation and inflation expectations at the target. With the aid of a graph, explain how a substantial increase in oil prices may lead to stagflation.
14.  Start with output at Yn and inflation and inflation expectations at the target. With the aid of a graph, explain the effects of a decrease in oil prices if the CB follows an aggressive inflation-targeting strategy.

15. Start with output at YN and inflation and inflation expectations at the target. With the aid of a graph, explain the effects of a decrease in oil prices under a soft inflation-targeting.
16. Two Inflation Targeting CBs may differ in two respects. Which ones?

III. A possible explanation for some trade cycles

Consider the explanation for some trade cycles presented in the lecture. With the aid of a graph, answer the following questions:

17. What triggers the first stage of the cycle? What happens to inflation and output during that stage? Explain, illustrating with the period when the American economy may have experienced that stage.
18. a) What triggers the second stage of the cycle? What happens to inflation and output during that stage? Explain, and present the period when the American economy may have experienced that stage.
b) Compare the cause of that stagflation with that brought about by an increase in oil prices.

19.  What must happen for the economy to remain at point 3? Explain.
20. a)Explain the movement from point 3 through points 4 and 5 until point 1. 
b) Present the period when the American economy may have followed that path.
